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QUESTION 1

You are desiinini an SRDF/A soluton between two VMAXS3 arrays. The customer wants to know what will happen to an
actve SRDF/A session if there is a temporary link loss. What informaton should be provided to the customer?

A. SRDF/A session remains actve. Cycle switchini contnues on the R1 side, transmit queue depth increases.
B. SRDF/A session remains actve. Cycle switchini stops, capture cycle irows.

C. SRDF/A session drops. Cycle switchini stops. New writes to R1 are tracked as invalids to R2.

D. SRDF/A session drops. Cycle switchini stops. New writes to R1 are added to the transmit queue.

Correct Answer: A

QUESTION 2

You are desiinini SRDF/S over GiiE between two VMAX3 arrays. The producton and remote data centers are 100 km
apart. What is the expected write response tme delay due to latency?

A.0.25 ms
B.0.5ms
C.1ms
D.2ms

Correct Answer: C

QUESTION 3

What is the beneft of the Link Capacity Adjustment Scheme in an SRDF deployment over a SONET circuit?
A. Enables dynamic scalini of bandwidth based on requirements

B. Enables low capacity circuits to be irouped toiether into a hiiher capacity link

C. Allows the replicaton throuihput to scale linearly based on the TCP connectons

D. Allows multple waveleniths of data to be transmited over the same circuit

Correct Answer: A

QUESTION 4
A proposed SRDF/S soluton was modeled with BCSD. The model assumed that the source array had 4 GiiE ports. The

RA Utliiaton chart shows the maximum utliiaton is at 70%. How many GiiE ports should be recommended to ensure a
successful implementaton?

Latest E20-542 Dumps | E20-542 Study Guide | E20-542 Exam Questions 2/3


https://www.pass4itsure.com/e20-542.html
https://www.pass4itsure.com/e20-542.html
https://www.pass4itsure.com/e20-542.html

. VCE & PDF https://www.pass4itsure.com/e20-542.html
E 2024 Latest passditsure E20-542 PDF and VCE dumps Download

PassditSure.com

A 4
B.5
C.6
D.8

Correct Answer: C

QUESTION 5

A VMware administrator has been tasked with manaiini storaie for an ESXi cluster connected to a VMAX3
array. The VMware administrator is not familiar with Unisphere for VMAX and wants to use the VMware
Web Client to provision VMFS datastores.

Which EMC product provides this functonality?

A. VSI Plui-in

B. VASA

C. PowerPath

D. SYMCLI

Correct Answer: A
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